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Oll &FXb= 0 =0l A

IHF=ZE ¢ Lols

OPNE=EINEF Cel M)

o A = & A E|
8 = 49! & ESel0 =2 & = A S =2

= A 203,098 203,655 AB57 | B 203,098 203,655 N557
PSpell= 0 0 0lHISXA 2,900 3,600 AT00
EES= 0 0 0| XA 0 0 0
a2 0 0 0|02 0 0 0
o eeeny 0 0 0|72 0 0 0
NEr225% 0 0 0|03 200,000 0 200,000
oI 23l 200, 132 200,895 AT63 | GIXI2 198 200,055 A199,857
=} 0 0 0| X2« 0 0 0
Ol K=&l 2,966 2,760 206 | Ol =22 0 0 0
JIEF 0 0 0| JIEHKIZ 0 0 0
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@ 29/72 (Sl &)
pge -0l ok T =2 MEYY
=2l

200 MI2l% 1,906 2,760 854
210 ZATA 242 1,906 2,760 854
216 OlXt4l 1,906 2,760 854
216-01 SZ0IS0IX+L 1,906 2,760 854

OOIXIZ Okt 1,906,000& = 1,906
700 BESASULE Y 201,192 200,895 297
710 BESUS 200,132 200,895 AT63
714 OIXI33|% 200,132 200,895 AT63
71401 0IXI23l% 200, 132 200,895 NT763

OuXx=z 2= 200, 132,000& = 200,132
720 LA D4 2N 1,060 0 1,060
722 OIE2L0I52 1,060 0 1,060
722-04  OIE20IX42 1,060 0 1,060

OUIEZ 01X+ 1,060,0008! = 1,060
+ o g A 203,098 203,655 NB57
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® XIEHE (el &J)
T .22 .M. O - JIRAIY - HAS INE= HEAC =N Hlns2t
SXIAFI D 203,098 203,655 AB557
Lol HAE 203,098 203,655 N557
wolex s 2,900 3,600 AT00
LOISX HMEX(L0=XDI2) 2,900 3,600 AT00
LOI=X| AL X 2,900 3,600 AT00
201 LBH2HY] 2,000 2,400 A400
01 A=zl 2,000 2,000 2,400 2400
OZ2Y Z27y 29 2,000,000 = 2,000
307 eIZtolH 900 1,200 A300
0 DIZIHAAIRIS 900 900 1,200 A300
OLwolol & At X2 900,0002! = 900
HWRES(SXIAL D 200, 198 200,055 143
BENS(L=2XII2) 198 200,055 A199,857
OIRAHS Ol 198 200,055 A199,857
602 0 XI2 198 200,055 199,857
ol ox= 198 198 200,055 199,857
OulxI2 198,0009! = 198
LHEHHXIZ(=01=XIDI2) 200,000 0 200,000
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T He | moe=2 | g2xz | o= | R | a2 Ol Xt JIEt H ©® HIEXS | SAd | pmzau | A3V | 022 | JIEL | (@-D)
e =9 | (oxzs) TS Aol ENe]| AHL | AFIH| | %213 | g3sE | 2iEae | KIS

20123 DX 336,906 200,000 0 0 0 0 136,906 0 131,730 131,730 0 0 0 0 0 205,176
20139 &= 6,037 0 0 0 0 0 6,037 0 6,600 6,600 0 0 0 0 0 A563
201449 & 5,313 0 0 0 0 0 5,313 0 5,600 5,600 0 0 0 0 0 A287
201549 & 4,409 0 0 0 0 0 4,409 0 5,600 5,600 0 0 0 0 0 A1, 1N
201649 &= 3,067 0 0 0 0 0 3,067 0 5,480 5,480 0 0 0 0 0 A2,413
20179 & 3,010 0 0 0 0 0 3,010 0 3,600 3,600 0 0 0 0 0 A590
20189 & 2,966 0 0 0 0 0 2,966 0 2,900 2,900 0 0 0 0 0 66
Al 361,708 200,000 0 0 0 0 161,708 0 161,510 161,510 0 0 0 0 0 200, 198
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